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Directions : Answer the following GuESTiony
(@ Nes. 1 o 30) by selecting the most
appropriats option.

i,  The period of Infancy is from :
(1) birthto | yeor
2y birth 1o 2 years
(33 birth 10 3 years

(4) 203 yean

i Amﬂtﬁtn!‘llgit.uhﬂhﬂnunl
to 7 yeurs is in the stage of
cognitive development.
(1} Preoperational

(2) Formal operational
(3 Concrate operational

{4} Sensorimolor

1. Development proceeds from
0w —
(1) genersl — specific
(2) complex — hand
(1)  specific — general
{4y simple — casy

(2)
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10,

In middle childbood, speech is more
rather thun :

(1}  egocentric, socinlized
(2)  socialized, egocentric
(3} animiste, secinlised
(4] mature, Immature

The child centred education invalves :
(1}  hands on activithes for kids.
(2}  children sitting in a comer.
(3] learning in restricted environment.
(4)  activities that do not include play.

The class tencher ohserved Raghav in
her class playing melodlous self-
composed music on his keyboard. The

class teacher thought that Raghay
seemed to he high in

inteltigence.

(1) spatinl

(20 bodily-kinesthetio
{3) musical

fd) linguisne

When a teucher considers boys as
natorally better at mathematics than
girls, it shows that the tencher s ;

{1} ethical

{2)  pender bissed
(3)  momlistic

(4)  right-minded

Inclusive sdocstion assomes that we

shonld change the to fit the
(1)  Child / system
(2}  Systern/ child

(3)°  Environment / family
14}y Child / enviromment
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14.

Children have the potential to create
knowledge and moke meaning. From
this perspective the role of a teacher Is
that of o :

(1) Negolator

{3} Communicator and Lecturer
{3)  Facilimtor

4)  Direcior

Which one of the following is pot a
charncteristic of gifted children 7

(1) Higher order mental processes
i2) High self efficacy

(3) Below avernge menial processes
f4) Solving problems insightfully

According to the pre-conventionnl
level of Kohlberg's theory, to which of
the following would an individual turp
when making a moral dectsion 7

1) Potental punishment involved
(2] Personal nesds and desires

(37 Individual values

(4) Family expectations

Regarding  learners’ individual

differences, the teacher should :

(1) provide & wvariety of learning
wliuatis,

{2) solve the problems based on
deductive mathod.

(%)  most of the time use plgorithms

(4) provide facts o stodenis W
memanze them.
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16.

17.

Which ane of the following is gt the

principle of child development T

(1) All development follows &
FOGUEILL

13 All weas of development are
impertant.

(3} All development results from an
interaction of mammion and
eXpEnEnce.

(4 All development and lesning
procesd ot an egual rale.

Which one of the following would be
the most effective way of conducting
assessinent 7

(1} Assessment should be mt the end
of the session.

{2y  Assessment i an inbwll process
in teaching learning.

(1) Assessmeni should be done twice
in an scademic sessiom — nt the
beginning and & the end.

(4}  Assessment should be done by an
external agency sod not by the
tencher.

Which one of the following is related
to creativity ?

(1)  Divergent thinking

(2) Convergent thinking

(3 Emotional thinking

(4) Egostic thinking

Which ooe of the following statements
about children would Vygolsky agree
with

(1) Children learn through socal

mr.uﬁmnwﬂhpammdﬂnlu
(2) Children learn when they are
offered lucrative rowards.
(3) . Children's thinking can be

undersiood by conducting
labamauiry experiments on
animals.

{4) Children are bom ‘evil’ and need
tn  he controlled through
punishment.

(%)

15

i,

17,

18

Q
Torrtorim & 9 wiw.w T e W O
g AT
(1} i T T e e E
(2 T s wd & weeel E o
(3) W T oS T S W
o fipm 5 ofromT WEE
(4) Tt e e ST T w0
w g F

frrfiiian & # wW SRR W W

i g e & 7

(1) wERE W W AEiE WO
i |

(7 s fmesfom 4 ST
g ¥

(3) EE TF dehes FROF 9 W
o ey - JE A S S |

(4) ST T g S i
SR =T S ) AT =

ooty % # SET A #
et i

(1) =R e

(1) s e

{3y =T e

4y wwert ferm

et # v o Fredmfizg waat @ few
W AT W A

(1) wer wEwwE HT TR ¥ M
b smiwwsl & T #
wad k|

() == mw dmn §om = WU
st qremn e i wnd |

(3) et & TaAA o A TEE W OHE
ko gimeren & wgEl wowEn
i

) mEwEAdEREdR AT
e el Form T i




{13 curlows beings who use their own
logic and ubilities to explore the
worrld around them.

(20  adule-like in their thinking and
there is & quantitative increase in
their thinking as they grow up.

@ like empty vessels in which
knowledge given by the adulis is
filked.

(4) passive beings who can produce
exact copies of the information
transmitted (o tham.

Which of the following statements
ahout children's errors Is correct ?

{1y Children commil errors because
they are careless.

(2} Children’s errors are part of the
leaming proCess.

(3) Children commit errors when the
teacher is lenient and does not
punish them for mistakes.

{4) Children's errors are insignificant
for the teacher and she should just

strike out the mistakes and not pay
any atrention o them.

A teacher needs io ensure that all
learners in her class feel accepted nnd
valued. To do this, the teacher should :

{1y muake strict rules and punish
children wha do not follow them.

(2] ook down opon children from
‘disadvantaged” background so
that they feel they have to work
harder.

(1) find out smdents who speak
‘good’ English and are from ‘rich’
backgrounds and present them as
role models.

(4)  get 10 know the social and culwral
background of her students and
encournge diverse opinions in the
clags.

(6)
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Suresh generally lkes to study alone
in n quiet room whereas Madan lkes
to study In a group with his friends.
This is because of difference in their :

{1} WValves
{2) Aptitudes
{3 Leanung styles

{(4) Levels of reflectivity

India has a lot of linguistic diversity,
In this context, what is the mosi

appropriate statement about multi-
lingual classrooms at primary level
especially cluss [ and 117

(1) Swdents should be penslized for
using their mother tongue or local
lamguage.

{2y The schools should admit only
those students whose —masther

wmnguoe is the same as the language
of instruction.

(3) The tescher should respect all
languages and encourage children
o communicate in all of them.

(4) The wacher
children who use their mother
iongue in the ¢lass,

should  ignore

n
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24,  What s meant by ‘mature’ in ‘nature-

nurture’ controversy 7
{1} The environment erounsd us

(2) Biologicsl givens or the hereditary
informetion

(3) Tempersment of an individual

(4) Complex forces of the physical
and socia! world

Mass Media s hecoming & very

important  sgency of socialization.
Which one of the fallowing is the most

appropriate statement !

{1} Medis is & very good way 1
acdvertise and sell products.

(2) Socialization is dome by the
parents and the family anly.

(3] Access W mass media s ErOwing
and mass  medin  Influences
attitudes, values and beliefs.

{4) Children cannot directly infersct
with media.

How children learn 7 Which ane of
the following Is ppt troe with respect
to this stutement ?

(1}  Children leamn in ciass only.

(2) Children learn when they are

cognitively ready.

(3) Children lesmn In & number af
ways.

{4) Children learn o they are
namurally motivated.
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Which one of the following sirategies
should a primary school teacher adopt
to motivate her studenty 7

{1} Encourage competition for murks
amongst individual student.

(2} Use incentives, rewards and
punishment as motivating factors
for each activity.

(3] Help children st gouls as per their
imerests and  suppori them in
working wwaords the sume.

{(4) Set standard goals for the entire

class and have rigid pammeters 0
assess achievement of those goals.

Which one of the following Is the

primary agent of socinlization ?
(1) Family

(21 Computer

(3) Heredity

(4)  Political parties

Giving children group work is un

effective pedagogic strategy since :

(1) it helps to feduce the teacher's
Wk,

{2y h allows some children 1o
dominats the others in small
Eroaps,

i1y children lewrn fram each other and
support ench other in the learning
process.

{4) children will be able 10 to their
work quickly,

A child with normul intelligence shows
difficulty in reading and

language. It indicates
that the child {s showing symptoms of :

(1) Dyslexia
(2) Dysgraphia
{3) Dyscaleulia
4] Dyspraxia
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Directions ; Angwer the following questions by

selecring the moxt appropriate aprions

.

2.

Mmﬁiﬂnndnnhinlmﬂ-
Tqu-ﬂﬂrlhnfmemmhnfi-‘rhup

-mr&!ulﬂmumhﬂnfh-uﬂm

players and one-Toorth of the girls are
players. Total number of players in
the school 5

(3y 330
2y 30
(3 345
(4) 393

hﬁhunﬂihhhhimhnlnnﬁ?m
ﬂﬂn,l.mmllhlfnﬂnih!:dﬂuuf
ﬁlﬁpﬂ'hldiml!!llmldshlhu}'nlhﬂ
MMBMdmlmllmm
tile 7

() 3Semx35cm

(2 40 em x 65 cm

(3) 55 cm x40 cm

(4] 4% g % 45 om
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Number of seconds in 6 hours is equal
io the numbor of minotes in @

{13 10 days
{2) 12 dmys
(3 15 days

(47 16 days

There are four coboidel boxes with
dimensions (in cm) as given below :

Length Breadth  Height

n 20 25 1%
{H 3 20 20
(i) 20 22 a1
fivl 24 20 19

Using which boxes can 18440} wooden
centimetre cubes be packed ?

(1) () & i)

(@) ()& i)
£3) (i) & fiid)
(4) (i) & Giv)

(11)
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i) 23 20 20
(Y 20 i n
vy 24 0 19
R % 18440 WEETET T w1 TE wet
% firey Tomey o 4t Foemy et e ey T 2
(1) (i) i)
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35, Th:luulhuhmuuhiltwnﬁmu

mu-wmmum
erm. Tf hreadth of the rectangle is 20
cm, ihen the urea (in cm®) of the
rud:n:ltuuﬂ!hlmﬂﬁt
square by :
(1y 100
{2y 150
3y 300
(4) 400
Harcon went to a fruit shop. He
I:nullltunam:llhﬂ.l'dmmhm-
at the rate of T 2.50 per hanana, three
and g hall kilogram spples at T 57.60
pr“.uumdnhludmmn
ll!T!.lﬂpﬂrknnnd'?Hmﬂd
grapes at ¥ 120 per kg. If he gave
pote of T 500 to the frultseller, be will
get hack :

{1y t28.10
(2] 2485
{3) T1495
(43 T50.30

(1%
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10290 books are to be packed In
worden boxes, I 98 books can be
packed in ome box and the cost of one
box is ¥ SI8 then the total cost of

boxes needed for this purpose is :
(1) T53872
(21 54380
(3) T54,202

{4) T 54,908

Which of the following is the best

sequence o teach the tople,

‘Measurement of Length" at primuary

stage T

(13} Using standard measures — using
ron-stndard IMEAELTES —
developing  standard unlt —
compansan

(2) Comparison — using non-
standard measures — developing
stundard umit — using  standard

measures
(3} Comparison — using non-
standard measures —»  using

stnndard messures — developing
stmndlard ymit

(4)  Developing standard unit — using
gtandard measure — wsing pon-
standard measures — comparison

(L3

ar.
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o & | Ui T w98 T G ut
welt § oftr 7w wwt W gew ¢ 518 A
et s e et ek
(1) 58
(23 54,390
(3) T2,
{4) T 54908

rafing w7 S Wt sver fae

T % TR AT Stvioes T o

(1) Wi A W S S -
ROSTTOTE WIS W IOU W —
wrTeE TR W fEstas s —
T T

(2) TP W — SRS wMT
T W s TEITE TR W
i W — amfte o oW
T WA

(3) TP WA — st WOl W
TN W - WO W W\
I WA - U TR =)
Tty W

(4] WTEITE T W fEwtan ST —
WIS W W S9Em SN —
FEHITTE W W A0 w0 —
W W=

SPACE FOR ROUGH WORK / T% &1 % (917 3778




Q
».

40.

Learning ohjective for fourth grade
sindents s given as

“Siudents are able to order and
compare two decimsl numbers upto

twn decimal places™.

This learning objective refers to :
(1) Content goal

(2) Process goal

(3) Disposition goal

{4y  Social gonl

Which one of the following
manipulative tools s required lo
develop geometrical concepts  of
'M'lﬂd‘ﬂﬂﬂﬂnﬂ'lnﬂ—

w?

(1} Two sided counter
(2) Beads siring

(3) Dot paper

{4} Ahacus

{14)

Pl
9, iR wan ¥ famiedt % fey sfe

sy T g
ey T = s W, W
o o % @ T AW, W RN R
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aF ST = YT S S E

(1) T

(2) it o

(3) T
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4. A  debale

wes conducted in
mathematics period of Clas V
on “Fero = the most powerfol
number’,

This activity encourages the child
to : ]

{1} cclinhorate with friends.

i2) monalvse and commumicate,

@)  write numbers contmining zero(s}.
{4y solve  problems  comtaining
numbers ending with rero(g).

Il a learner i having problem
with numhers and colculations she'

he muy be having disabillty known
s 3

(1) dyslexia
(2)  dysgraphia
(3)  dyscalculia

(4)  visuul-spatial organization
disahility

(153

4L

Q
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sy WaR e TETE we i e

o e wed W R e
(1) FeAiwtwameEg

(2 forem s §
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@

(3

(4

44. Which one of the following questions
Is open ended T

()

(2)

£}

(4}

Find 15 % 3.
How will yoo multiply 15by 37

Write any two numbers whose
product is 45.

Use number line to find 3 times
15

l

(16) P-1
4, wuEs wr o fmwied w

s TwwT W Op E, wite 0

mE T E

(1) el s RS W B W
fg

(2) e s diwe diwes W
o F

(3) i S e W ¥

(4) =T e S S W W
e

oot & & Wi AE S0 WA T

L&

(1) 15% 3 % 5F T S |

(2) = 1S3 I T e

(3y = st fefay faeer e

()

45

e TE W WM S R 3 W
15 W o W )
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Some students of Class 1T, face

diffienlty in the addition of two digtt

numbers involving ‘carrylng over’.

Reason behind this problem is lnck of :

(1) understanding of regrouping
process,

{2)  limterest in mathematics.

(3)  understanding of  difference
between fuce value and place
valus.

(4)  understanding the importance of
EBIM.

Which one of the following is an
MIﬁlrﬂurhtlrufnpﬂ
mathematics textbook at primury
level 7

(1) It must be thick and large,

{2} Concepts should be introduced
through contexis,

(3) Tt should only contain numerous
cxcrcises W give  dporoos
priciice,

(4} It should be amractive nnd

colourful.

(I

Q

45, W 11 % v faenfirdt wt wofie ot 5t

¥El w et ¥ W F whwd wr
A WU
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(1) TreEeT o ofem o e oW
L]

(2) it o oy w5 aparw

(3 =it o sty varle s F st 9
T W A

(4) ¥ % vEes = W W s

sraftes v ur i ot e o
T & e Frefafan § @ st
et wrrqui & 0

(1) st sl ot wfiw

(2) =09 sEuwmal = ofren dedl &
BT S o "

(3) = e wAA s e e
wed T womey spar fewr o
|

(4) = smwn sl 4t o i
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:q?. According to “Van Hiele level of

Geomeiry' students who can describe
and sort oul shapes on the basis of

appearance are at :

(1) level 0 - Visualization

{2)  Jevel 1 - Analysis

(3)  level 2 Informal Deducton

(4) level 3 - Formal Deduction

Communication In mathematics class
refers to developing ability to :

(1) orgenise, consolidate and express
mathematical thinking,

(2) interpret datm by looking o
bargraphs.

{3} give prompt response o questions
asked in the class.

(4) contradict the views of others on
problems of mathematics.

(18)

. Pl
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If a learner is able to perform the four
basic operations on whole numbers,
fructions and decimal numbers, the
learner is af :

(1) Quantifying phase
(2}  Panitioning phase

(3)  Factoring phase

(4)  Opernting phase

National Curriculum  Framework,
2005 recommends that tesching of
mathematics at primary level should
focus on :

(1) belping studens 10 acquire
intemational standards in leaming
of marthematics.

(2)  preparation for higher
mathemuatics,
(31 abstract concepes of machematics,

{4} helping smdents 1o connect
classroom learning with everyday

life.

(19)

Q

49, wir v fimmedt qerher, et st ey
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Lo Sans
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Q
£], Which one of the following s pot an

importunt aspect of Number-sense 7
(1) Conservation

{2y  Senation

{(3) Counling

(4) Writing Numbers

A teacher gives 36 tiles to students
of class IV mnd nsks them o
arvaunge them in all possible
rectangles. Which one of the following

enncepts cannot be addressed by using
this activity 7

{1) Factors

{2} Multiphication

(3) Area

(4) Volume

(200

P-1

51, Torereter 8 5 wieowT SO0 W WS W

e e S ¥ 7

{1y T

(2)

(3) oFm

(4) 3 o

SETTE & W [V % BT W1 36 e 4
e 7% Wit s snoat & smiror €7

¥ for =@ 1 §w feoeEm @
i § § wW W Wweew Wt

sy =t fowar o T & 2
(1) T
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(3) e
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Ten thousands + Ten hundreds + Ten
tens bs egual to ;

1 1o
@2y 11110
(33 1ll00
(4) 11010

The sum of remainders obtsined on
diruhgllluhguudﬂiﬁhrl]
Is :

(1
() 3
3 4

(B

4 3

The difference between the place
valoe of 6 and the face value of 4 In
56431 s :

(y 2

(2} 999
(3) 5600
(4) 5996

121)

53,

THEWT + TR 4 TR e
(1) 10w010

2} 11110

(3 11100

(4) 11010

12112 %1 11 & v 13223 %t 13 8 wpy
W T ey Yt O i

n 2
() 3
(3 4

(4) 3

S6431 & § % wITIT =T WO 4 % afwE
ud wAT

(n 2

2) 999
(3) 5600
(&) 5996
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The product of the smallest common
multiple and the biggest common
factor of 30, 36 and 42 Is :

{1y 7560
(2) 7460
(3) 7660
(4 7650

The sum of all the positive factors of
84 which are multiples of 7, 1s :

{1y 112
@ 113
(3 189

(4) 196

When it Is 8:40 pam. In Delbi, It is
1:19 w.m. oo the next day in Sydoey.
What time will be in Sydney when it is
11:19 am. in Delhi 7

(1) 6:49 am
(7) 319am
(3] 349 pm.
(4) &29pm.

(22)
5.

Pl
30, 36 ST 42 ¥ R W wETT.

s W AT W EEA
(1) 7360
(2 T460
3 7660

(4) 7630

B4 ¥ Fvft wroves o W i, T
Wk, Pk

(y 112

2 113

(3) 189

4 196

v feeell % v B:49 pom, ¥, e Feef
& worn wpvt Pt w1 1:19 aam )
fiortl % W 11:19 aum. ¥, w0 Fweh &
| T
(1) 6:A%am
) ¥l9am
() 349pm
(4 6G29pm.
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5.

On a muep, half centimetre shows
125 kilometres on the ground. IF two
cities mre actoally 2000 kms apart on
the ground, then the distance hetween
them on the map s :

(1) 4cm
) 6Gum
3y 8em

4) 10cm

Which one of the following Is pot
correct !

(1) 2009 millilitres = 2 [itres

9 millilitres

25
(2) 25 hundredihs =775

(3} 0.57 in the same as 0.5700

(@) Ares of & square of side 30 cm 18
the same ot the area of & Teotongle
45m»02m.

23)

Q
59, e O sy dEEy, i o 125

60.

fietidter wt wwien & 1 of o i W
dre o 7 gin or 2000 fed & W

arfirs e 3o ot o g el «

(1) 434

(2) " 6%

(3 &%

(4 109

forey o i v e T

(1) 2000 et = 2 et 9 i

: 5
{2y 15VW = 100

(3 057Temr R 0ST00 %
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ot
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Q i24) Pl
PART = I/ = 11
ENVIRONMENTAL STUDIES / GaiEoy 3reqg=

Directions : Answer the following questions by Priw . ww Shy Pewen weee Prsdeiae ol

Which one of the following
characteristics an EVS text-book ut
primary level should pot have ¥

selecting the mosi appropriate ophions. % g i |
6l. An EVS teacher, usually begins ber 6l.  warEver sneveer i v findee FreriEtom
cluss by posing a few key questions. Of ST R S W WY e N
:"mumd?m _ e wos §T e § | wE W wrafisar awn
{1} Leamer's thinking can be ‘F"'“""*""_'t-ﬂ‘!ﬁ'h
restricted. (T W e oafte few oW
(2) Leamer's thinking can be st
stimulated. (1) fewfed W o W fwmw o
{3} The questions arouse curiosity in e
g (3) e Tt F e s B
(4) Questions help in coptextuslising (4) TER WETOT O HOdE T ey
bapici.
Wk |
While making groups for an activity, 2. Tl fwamemg & foq wE T RC
:‘;“ﬂm“"‘“"’ % s srae 35 o i w for
ENELre cooperation
SR i plir iy tu#ﬂm;mdn
(2) ensure separate groups for boys RPN q
and girls. (7) WA s 5 wekoeEieet &
(3) make groups avcording o their W A
marks. (3) T 3 A WY 9
(4) make two groups only, each with :
s o (4) R WHE e ST v g

w Femmedt &

WIS W W UG AEER W
oy # frefefen § & s

: Fersroen =] wreft i 7
H I natmral - and
s cu.}l:g;mnmvimm: inmﬁ (1) % i R T i
integrsted mamner. Wit U T A W
{2} It caters to diverse backgrounds of (2) ‘Wﬁwwﬂ
the students, T T
. (3) 9 S wael s 9
@ I _il'll:ll:lli:l true slories snd e w b o
- (4) uF oo ST s SEeRER]
4 It focuses on definitions and F ST W U WA e H

explanations of sbstract concepts.

L
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fid.

Which mne of the [ollowing the
Mational Curriculum Framework

(NCE, 2005) does nol propose in the
context of EVS tenching 7

(1} Thematic Approsch
(2 Linkeges with
expenience and context

{3} Hands on activities.
(4) Familigrity with technical terms

children’s

To drow and onderstand maps, which

of the following aehbillies ivare

required to he developed in primary

level students 7

A. Understonding of  relative
position of places.

B. Understanding of relative
distances and directions of
places.

C.  Understanding of symbuls and
scale.

D. Drawing proclsely according fo
scale.

(1) AamdB

() onlyC

3 ABamlC

4) OnlyD

Which of the lollowing objectives Is

pot relsted to EVS teaching In

primary classes 7

(1} Todevelop sensitivity owands the
physical and social environment.

(1) To memorise basic scientific
concepts and principles.

{3) To provide oppomunites
explore the environment,

i4) To develop skills like observation,
measurement,  prediction  and
clusmfication.

(25)

Q
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67. The nature of environment studies

does gol advocate that :

(1) children pget u lot of space to
explore,

{(2) children make fewer mistakes.

3 children get space o leam by
doing.

{4) children ask a lot of questions,

A teacher took up plants as the theme

to teach class IV students. She

provided the follywing learning
opportunities :

. Collection of leaves in groups.
Discussions shout shapes, sizes
and other features of leaves,

c. Making a herbarium

Faor such activities, what should the

teacher pot encourage the most 7

(1) Children's interaction with each
other, observation and
COUPErRLON.

{2} Children's initiative 1o memorise
as muny names of leaves a8
possible.

(3)  Children's detailing of the work.

(4) Children's continuous

engagement with the activity.

(26)

7. wataTer sewaw W Wi Ferintan W

T sl e

(1) e T S R v e
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(2y el ww T W |
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7L

Which one of the following should not

be done by the EVS teacher while

nssessing students 7

(1) Write qualitsfive statements ahoat
studenis work.

{2) Compare with previous
pasessment recond of soadens.

{3} Record information in the light of
the students learming potential.

(4) Focus only on & few mspects of
students work.

‘Community is an importani
teaching-learning resource in EVS at
primary level because :

(13 it provides lesrning opportunity in
real setting.

(2} itisa very inexpensive resource.

{3} it s an casily available resource.

{(4) It comprisex wise and elderly
people.

A person boarded an express train on
30" Augusi, 2015 at Ahmedabad for
Trivandrum, The train departed from
Abmedabad st 1330 hours and
reached Trivandrum at 7.30 hours on
1" September, 2015, If the distance
between Ahmedabad and Trivandrum
Is 2268 km, the avernge speed of the
train between the two stations was :
(1) S4mhs

(2) 42mi

3 15mfi

{4)  Pm

Q -
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70,

oo w1 Tofire =t Frtafes & | =0
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Gurpreet travels for the first time
from New Delhi to Chennal in a train.
Which one of ihe following rivers is he
pot likely to cross during his train
Journey 7

(1) Narmada

(2) Godavari

(33 Gangs

{4) Krishna

Which one of the following places in
our country ks a “Cold Desert™ ?

(1)  Darjeeling

(1)  Inisalmer

{3} Ladakh

) Meghalaya

in Class V Environmental Studies
Text-book ane lesson, “Blow Hot Blow
Cold™ Is a story written by Dr, Zakir
Hussain, He has written many such
stories for children. At the time of his
death, he was the :

(1) Prime Minister of Indis
(@) Chief Justice of Tndia
@) Vice-President of Tndia
(4) President of India

Which one of the following matches

i« pot & correct way of food
preservation 7

(1) RawMango - Pickle

(2} Potsto = Chips

(3) Milk - Puneer

(#) Apple ~ Jam

(28)
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Consider the following characteristics
of the houses ;

A. Ground floor without windows

B. Slaniing wooden roofs made of
ire¢ trunks

C. House made almost 10-12 feet
above the ground on stone
pillars

D.  Thick walls made of stone, mud
und lHme

E. Woaden Moors

Which of the above characteristles

can be found in the houses of Leh and
Ladakh ?

(1 AB.C
2 BCD
3 GCDE
4 ADE
Study the following :

Crows male their nests high up on a
tree using all kinds of things, even
pleces of wood and wires. A clever
hird who does not make fts own nest
lays eges In u crow's nest. The poor
crow hatches them along with its own
ERES.

Which bird is this ?

(1) Suonbind

{2)  Indiun Robin

{3} Barbet

(4) - Koel

Which one of the following is not a
seed 7

(1)  Aniseed
(2]  Wheat
i3] Black Pepper

(4] Sagn gﬁuumj

(29)

Q
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Rehana goes to Kerala along with
her familly. There she sees tall
trees which are very different from
those in her hometown, Shimla.
Which trees could she have seen in
Kernla 7

(1) Pine

(2} Coconut

(3 Apple

(43 Litchi

From the following materials

collected from n vegeinhle market by
children, identify those with seeds
Inside :

Potato, Tomatoe, Pear, Chikoo, Lady

finger, Birter-gourd, Onion,
Cuocumber

(1) Pearand Chikoo

(¥  Tomato, Pear, Chikoo, Lady finger,
Cucumber

{4} Tomato, Pear, Chikoo, Lady
finger, Bitter-gourd, Cucumber

Neeta goes to Andhra Pradesh and she
purchases two sarces, which are
exclusively made there. What are they
called 7

(1) Kalwmkari and Kantha

(2) Pochampally and Kalamkari
(31  Pochampally and Kangivaram
(4) Kaiamkari and Chanderi

(30

F i

Bl.

i |
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Which one of the following diseases
may be caused by stagnant water 7
{1} Chicken pox

{2) Malaria

(3} Palio

{4y Ppeumonia

‘Which of the following makes a correct
pair ?

(1} Kornatakn — Kathak

(2) Assam— Bihu

(3 Orissa - Bharainatyam

(4)  Tamil Nadu - Lavani

The Eskimo makes his house ie.
‘Igloo’ from lce. What is the reason
for this ?

i1 Dnlrtui:lmlnbibknpum
regions.

(2) les does not aliow cold air and
wiiter to come inside.

(@) ‘The =ir between the ice walls
prevenis (he inside heat from
EHCRPINg. ;

t4) Tce i available free of cost, other
material will cost & lot.

Which one of the following is not &

characteristic fenture of the roots of u

Banyan tree 7

(n Roots provide suppor to trees like
pillars.

{2) Roots hang down from the
branches.

{3} There are underground roots.

{4) - Roots stare food.

(3}
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6. As o newly nppointed EVS teacher in a

school, your foremost priority before

beginning to teach would be to :

{1} prepare lesson plans in advance.

(2)  indentify the slow leamners in the
cluss,

(3} prepare detailed chapiarwise notes
for lenrners.

{4) prepare socio-cultural profiles of
the learners.

Poems and storfes are effective in
trunsacting the themes of EVS. This is
hecause poems and stories :

A. can be rich depictions of the
child's environment.

B. can provide contextnal learning

environment.

C, can explain varlous abstract
concepts effectively.

. c¢an nurture crestivity and
sesthetic sense.

(1) AandB

{2) A BandD

{3) omlyC

{4} onivB

As g teacher of Class ¥, which af the
following resources would you fnd
hest to pse while desfing with a topic
on *conservation of fuels’ ?

(1) Texthooks
(2} Reference books
(3) Posiers

(4)  MNewspapers
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A teacher of Clags 'V nsks stodents o
pul their worksheet, observation
reports and material collected during
g term In o folder. These folders can
be called :

(1) Ancedotsl records
{2}  Portiolios

{3 Assignments

(4)  Projects

The chupter In Class V NCERT EVS
text-book titled, ‘Sunita in Space’
describes mstronnut Sunits Willams'
experiences in spaceship. What could
be the reasonfreasons for ncluding
this 7

A. This incident glves a peep Inlo
the life of an astronaut.

B. This incident describes physical
conditions In a spaceship.

C. This incident challenges gender
stersofypes.

D.  This incident helps in explaining
the concept of grovity.

(1) A only
(2} Donty
31 ABandC

) AB.CandD

(3%
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PART - IV
LANGUAGE -1

ENGLISH

IMPORTANT : Candidates should attempt questions from Part = IV (Q. No, 91-1240),
if they have opted ENGLISH as LANGUAGE -1 oaly.

Directions : Read the passage given below
and answer the guestions that follow
(Q. Nos. 91-99) by selecting the maost

appropriate options :

Madam Cmma's Paris home became a
shelter for world revolutionaries. Even Lenin,
the father of Russian revoluton visited her
house and exchanged views. Savarkar got all
encouragement in writing the history of the
First Indian War of Independence from Cama.
She helped its. printing in Holland as 0o
English publisher came forward to publish it It
was & banned book but found its way o India,
Smuggled ingeniously under "Don Quixote”
covers | She hecame the publisher of “Vande
Mataram”, & revolutionary magazine and its
distributor, an extremely difficult sk in the
days of British espionage. Another magarzine
“Madan's Talwar™ was also started in memory
of Madan Lal Dhingra who laid down his life
for the country. Both the magarines were
outlawed in India and England. Madam Cama
somehow found ways to send them to Indian
revolutionanes.

Madum Cama also fought for the cause
of women. Speaking at National Conference at
Cairo, Egypt in 1910, she asked, “"Where is the
other half of the Egypt 7 | see only men who
represent half the country ™ She stressed the
Tﬂ#ﬂwm}nbui’ldinglnlﬂm.

When the First World War broke out in
1914, Madam Cama took un snti-British stand
and tried her best (0 make the Indian people
aware of the exploitative nature of British
imperialism.

The British had banned her entry into
Indiz, being afraid of ber revolutionary past
end stsumch nationalistic outlook. But the
lioness was getting old and 33 years of fighting
on foreign-land had taken its toll. She decided
to retun to her motherland. Her health was

worsening. After reaching Bombay, she was
hospitalized and died on 13" of August, 1936

9. Noi only did Madam Cama
participate lo India's struggle for
freedom, she also :

{1y worked for the uplifiment of the
PO

2} opened schools in slums.

(3) created oawareness of the
Importance of cleanliness among
Wirmen,

{4) champiomed the cause of women.

92, Madam Cama’s entry into Indin was
hanned becuuse :

(1) she was a revolutionary and
staunch nationalist.

(2} she bod o crinunal past.

{3) she spoke vehemently sguinst the
British.

{4) she was spreading rumours about
the British.
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The suothor's wtithade to Madam

Cama can be deseribed as :
(1)  hostile

(2)  laudatory

{3) cntical

(4)  contmdictory

The word, ‘ingeniously” most nearly
Enns

(1) secretly
(2) cleverly
(3)  wilfully
(4)  devilishly

The word which Is opposite in
meaning to ‘famous’ is ;

(1)  unpopular

(2] undesirable

(3)  mysterious

{4} unknown

‘Madam Cama fought for the canse of

women.,'

Tense of the above sentence has heen

correctly changed into past perfect in :

(1 Madam Cuma had fought for the
cnuse of women.

(2) Muodam Cama hos been fghting
for the cause of women.

(3} Mudam Cama is fighting for the
cause of women.

(4) Madam Cama had been fighting
fior the cause of women.

*

(38)

7.

Q
Which part of speech s the underlined

word in the sentence given helow 7

‘I see only men who represent half of

ihe country.’
1) Adjective
2) Pronoun
(31  Adwverb
(4} Noun

How did the book, *The First Indian

War of Independence’ find Its way to
India’ ? The book was ;

(1) courieved
(2} mnllad
(3)  smuggled

{4) sent through o secrer agent

Maudan Lal Dhingra was a :
(1} businessman

(2) freedom fighter

(3} poet

(4)  journalist
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Hrections :

100.

Read the extract given below
and answer the questions that follow
(). Nos. 100-105) by selecting the most
appropriate options ©
Su he spoke, mildly ; Sohrab heard his
voice
The mighty voice of Rustum and he saw
His giant figure planted on the sand,
Sole, like some single tower, which a
chief
Hath builded on the waste in former
years
Against the robbers; and he saw that
head,
Streak’d with its first grev hairs; hope
filled his soul,

And he ran forward and embroced his kmees,
And clasp'd his hand within his own,.. ..

The description of Rustum’s physical
appearance shows thal he was

{1y old

(2) middie-nged

(3)  ateenager

(4} young

The wuy Sohrub reacted when be saw
Rustum shows that

(1) he was enraged, when he saw

Rustum.

he felt great jove and admirstion
for him.

he was unerly confused.
* he was overcome with griel.

2)

(3)
(4)

13,

14,

108,

The poet describes Rustum’s voice .H
(1) powerful

(2) boomung

i3) shrill

(4) loud

The figure of speech nsed in lines 3
and 4 is 2

(1)
2
(3)
(d)

Name the literary device used in 1
* e saw that head

Streak’d with its first grey hairs'.
{1} Contrast
(2)
(3)

(4)

Imagery
Adliterntion

Simile

The encounter between Rustum and
Sohrab took place

(1} inaforest
(2)
(3) inadesen

(4) ino=valley
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Direciions :  Answer the following questions

6.

07,

108.

by selecting
oplions :

the most spproprinte

A child in class Il writes : *1 laik tu

red & buk” instead of writing “1 like to
rend o book™. What does the child's

writing show 7

{17 He neads 1o work on phonetics.
{2} He needs remedinl classes o
improve spelling,

He has used invenmed spellings,
He is not paying any attention to
the class.

EY
{4)

In & consiructivist classroom, language
learning should be based on :

{1} drill and practice of gmmmatical
ilems,

the tramsaction of the prescribed
textbook by the teacher,

lewmens’ previous knowledge in
constructing their new knowledge
using authentic tasks.

the assumplion that English
langnue can only be learnt If the

teacher wansmits it to the learners.

(2}

(3)

{4}

A teacher is reading o fesson from
class III textbook abowt & girl Nina
who Is not interested in attending a
murringe party a3 she does nol want
to leave the sparrow alome locked In
her house, Soddenly & boy, Ali stands
up and tells the teacher how one day
e saved an injured pigeon which was
Iying in his baleony. Ali's resctlon o
the story can be described as :

(17 connocting the ext with his
personal experience,
interrupting the teacher in betwesn.
an  opporiumity to uss ol
langusge in the class,

his attention secking nature in the
clnss,

(2
(3]

(4]

(37)

lmi

1o,

111

112.

mmhmlﬂm{'
o
{1} trunslate the written symbols into
cormesponding sounds.

perceive and decode lemars in
order to resd the text fluently.
CONSTUST meaning by Intérnoting
with the taxr.

understand all the words in the
1ext 1o understand its meaning.

(2}
(3}

(4)

A teacher has given a tosk to be done
in groups. What will be the role of the
teacher during this group wark ?

i1) Ensure that the task is finished on
time, so she should remind them
of the time, again &nd again.
Ensure that everynne in & groop
pamicipates in the task and @y to
support them if required.

The teacher should give full
autonny o the groups and she
should sit aside on a chair.

Enpure that students do not make
i noise in the ciass.

(2)

{3)

4)

Which of the following type of

questions In & test will be helpful
in sssessing the creativity of the

learners ?

(1) Ome word question

(2} Open ended guestion

3  Muliple choice goestion
(4) True/False type of question

Deficiency in the ability tv write
associated with impaired handwriting

is n symptom of :
(1) Aphasia

(2) Dyscalculia
(3) Dyvsgraphia
(4) Dysphasia
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114.

115,

116

i4)

In & role play a siudent at the end
safd, “This news report is presented by

{2}
(3
(4)

Jean Piagel
Mosm Chomsky

Dictionary s a very important tool for
learning o language. Which of the
following Is leasi important about the
nse of dictionary 7

(1)  Check the spelling of o word.
(Z) Looking the meaning of 8 word,
(1) Check the possive voice of a

word.

Check the part of speech of a
word.

Which of the following is 3 technique
of nssessment 7

(n
Z)
(3
(4)

Rubrics
[nterview
Checklist
Rating scale

*

138)

117.

118.

1%

Pl
Learning to spesk in o second
language does not involve :

(1) second |lenguage grammatical
knowledge.

i& pronunciation.
culturally bound speaking events.

theoreticnl knowledge of a
language.

(2}
(3)
{4

While developing writing skill among
students, n language teacher should

most importantly focus on :
(1)  good handwriting.

{2) grammatical aspects.
{37 word limits.

{4)  expression of ideas.

A tencher divided the stodenis of class V
into groups of six and provided each
with a short story. Then she asked
them to imugine, discuss and write the
story with a different ending. In this
activity the teacher is developing their :

(13 controlled wniting.
(2)  guided writing.
(3) creabive writing.
(4)  product wriling.

Before siarting a new lesson from the
texthook, 0 tencher should focos on :

{1}  the momal of the jesson.

(2) the grammatical aspects in the
lesson.

choosing difficult words in the
lessan and giving their meaning.

connecting the theme of the lesson
with learners’ previous experisnce.

i3)

(4]
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PART -V

LANGUAGE-T1

ENGLISH

IMPORTANT : Candidates should attempt questions from Part - V (Q. No, 121-150),
if they have opted ENGLISH as LANGUAGE - TT anly.

Directions : Read the passage given below
and answer the guestons that follow
(Q. Nos. 121-129) by selecting the most
appropriaie opiions -

One Sundsy moming, 1 was wavelling
on a subway in Mumbai, People were sitting
quietly — some reading newspapers, some lost
in thought. It was a calm, peaceful scene.

Then suddenly, & man and his children
sntered the subway cor. The children were 50
loud and mmbunctious that mstanily the whole
climuie changed.

The man sat pext to me and closed his
eyes, apparently oblivious to the simation. The
children were yelling back and forth, throwing
things, even grabbing people’s papers. It was
very disturbing. And yet, the man sitting next
to me did nothing.

It was difficult not to feel imitated. 1
could not believe that he could be so
insensitive as to let his children mun wild and
do nothing sbout it. It wes easy to see that
mwuh:mﬂnmhmjidtiniM.m
So finally, | wmed to him mnd seid, “Sir, your
children ure really disturbing n lot of people. |
wonder if you couldn’t control them a lintle

mibre T

The man lifted his gaze as if to come to a
consciousness of the situation for the first time
and said sofily, “Oh. you're right. I guess |
should do something about it. We just came
from the hospital where their mother died an
hour ago, 1 don’t know what to think and 1
guess they don't know how 10 hindle it efther”,

Can vyou imagine what 1 felt at tha
moment. My paradigm shifted. Suddenly I saw
things differently, and becamse 1 saw things
differently, 1 thought, felt and behuved
differently, My jrritatinn vanished; my heart
was filled with the man’s pain. Feelings of
sympathy and compassion flowed freely.
“Your wife just died 7 Oh, | am sorry | Can
you fell me about it 7 What can 1 do to help 4
Everything changed in an instant.

121. It can be inferred from the man's
hehoylour that e was :

(1) Insensitive
(2) anindulgent parent
{3} mentlly disturbed

{4) unsocial
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122. When the writer learnt the truth :

(1) he felt apologetic.

his heart was filled with the man's
suffering.

he was angry with himself for
being judgemental

he decided o help the man out.

(2)

3)

(4]

123. The primary purpose of the suthor is

125,

toi :

(1) highlight the problems of subway
travellers.,

{2}  narrate an amusing incident.

(3)  show how indulgent parents spoil
their children,

(4} show s radicsl shift in attitnde.

The word ‘oblivious’ (Para 3) means :
(1) insensitive
(2)
(3

4}

Unnwiire
neglectful
: 4

The word which Is opposite In
meaning to ‘compassion’ (Para 6) s :
(1} cruelty

{2} coarseness

(3) dislike

4y  wildness

(43)

126,

127.

119,

‘I feht differently.’ .

Tense of the above sentence has been

(1) Thave been feeling differcntly.
(2)  Tam fecling differently.

{33 Thad been fecling differently.
(4) 1 was feeling differently.

‘My irritation vanlshed.’
The sentence given above has been

carrectly changed into interrogative
form in :

(1] Did my irritation vanish 7

(2) Couldn’t my irritution vanish 7
(3)  Hadn't my irritation vanished 7
(4) IDhdn't my irvitation vanish 7

The children’s behaviour om the
subway was :

1) amusing

(21 irritating

(3} disgusting

(4}  shocking

How did the man (children's father)
react tu the unruly behaviour of his
children !

{1}  He enjoved iheir untics.

(2} He rebuked them.

(3} He tried 1o control them.

(4) He did nothing.
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Directions : Read the passage given below

and answer the guestions that follow
(Q. Nos. 130-135) by selecting the most
sppropriate options :

Your aftiudes are the perspectives from
which you view life. Some people seem 10
have & good smtitude owards most things.
Some people seem to have a bad amimade
wwards evervthing. But when you loak closer,
you will find that most of us have o
combination of attitudes, some good, some not
50 good.

Whatever attitude we have towards
anything will affect how we feel abowt it,
which in turn determines whether or not we
will do well. So our right attitudes play o very

imparant part in helping us became successful.

In fact, ns we can see, 4 good attitude is
essentinl for achievement of any kind ! We so
often hear of someone who |4 said w bave a
"bad amirude”, The term ix often applied to
young people, especially to teenagers who
frequently get into trouhle, but we aften hear it
shont adults, too. The implicanon is always
that the individual in question is nol going o
make it if he doesn’t change his attitude.

(46)

Pl
I would agree, without a good attitude

is not possible to see the opportunities ahead
and set one's sights to reach them. But even
more imporant is the fact that in order o
possess the kind of feelings which work for us,
we've got to have the right attitude to start
with.

But where do we get our attitudes from 7
Are we bomn with them or do they just appear
out of nowhere 7 Our auitudes are no sccident.

They don't just hsppen, Our aftitudes are
created and influenced entirely by our beliefs.

130. The term “bad attitude”™ is used for

young people because they :

(1)  defy ull kinds of authority.

(2}  behave irresponsibly.

{3) often ge: into difficulty.

(4)  are unpredictable.

131. Right attitudes are absolutely essentinl

to

(1) succeedin life.

{2) win the goodwill of our peers and
superion.

{3) have harmonioss relations With
others,

(4) promote our mental well-being,
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132 Which one of the following stutements

133,

is correct 7
(1} We are bam with our sritades.
(2) Our aitudes are influenced by

oar parests only.

Chir  mttitudes are created  and
cantrolled by our beliefs.

(3

Our attitudes are the resulis of oor

personal experience,

(4)

The word ‘determine’ most nesrly
meAns |

(1) govern

(2}  infleence

(3 overcome

(4] engnge

Which part of speech is the underlined
word in the sentence glven below ?

‘Some people seem lo have a pood
attitude fowards most things."

(1  Adverb

2] Preposition

(3] Adiective

(4) Conjunction

(47

128,

AfAn _ antitede s lhmlu:lﬂ_rq

necessary for attainment of any kind.
i1} virmsous
(2) cheerful
(3)  optimistic

4 pood

Directions : Answer the following questions
by selecting the must appropriate options :

136,

Whao strongly maintains that language
is learnt by imitation of stimuli and

reinforcement of correct responses 7
(1} B.F. Skinner

(2} Albert Bandura

3 Kur Lewin

4} Tolman

Under which activity do recognising
sounds and deducing meanings from
them come ¥

(1) Writing
(2] Speaking
(3} Listening

(4) Reading
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140,

learning, siudents lack confidence in

their pronuncistion. How can one

avercome this

(1) Ovgonizing play like tmsks in
which children can tlk w© one
mother,

(1) Providing scope for special
mctivities with the help of
language experts for removing
speaking defects.

Correcting mismkes immediately,

Rending alowd in the classroom.

(3]
(43

Which of the following Is the highest
level of cognitive ahility 7

(1)
2
(31

Analysing
Knowing
Understanding

i4)  Evaloasting

Why is story telling most important in
an English language class at primary
level ?

{1y Itcreaes fun in the class,

2y T is ouseful for developing
integrated language skills,

It develops moral valocs among
the students.

It improves students’ vocabulary,

(3)

(4)

(48}

141

142.

143,

144.

Pl

A good tencher is one who :

(1} glves printed notes o students.

2}  gives them ample opportunities to
leamn.

(3 gives them useful information.

{(4)  explains concepls and principles.

Which of the following helps in

learning the second langusge without
using the printed text 7

(4] Grammar-translstion method
(2)  Siwstional approach
{3)

4}

Natural approach
Languape immersion

A person, who Is a fluent speaker, is
likely to possess :

(1) Verhal-linguistie ability

(2)  Logico-mathematical abifity

(3}  Badily-kinesthetic ability

(4)  Musicsl ahility

Which approasch emphaslses
internction as the means and the poal

of learning o language 7

(1) Silent way

(2) Commuonicative
(3)  Oral-ouml

4]  lmmmersion




Pl
145,

147.

Maximum participation of studenis
during teaching In o longuage class-
room Is possibie through :

Discussion and  demonstration
methods

i1

{2) Lecmre method
(3)

4

Translation method

Inductive method

Dyslexia is an intellectusl disability
that  negatively  affects  the
understanding abilities in terms of

(1} Rending

(2} Oral language

(3} Sign lenguage

(4) Dinlect

The Lioguist, Noam Chomsky
muintaing that every child has sn

innate Language Acquisition Device

(LAD) that he/she uses for :
(1) Semantics

(2) Phonemes

(33  Universal Grammas
(4) Complex words

(49}

148,

149,

150.

Q
The structural approach advocates :

(1] using mother tongue

(2} resoning to fluency

i3) selection and gradation of material

(4] sssessing leamers’ performance

According to soclo-cultural theory of
Vygotsky :

(1 Culwre helps in

development.
Self-directed speech is the lowest
stage of the scaffolding,
Children can think in sbstract
ferms if wbstact material s
provided ot a lower nge.

language

(2

(2

Children think in different domain
and do nol ke a complete
perspechive.

14

What is the main purpose of poetry
recitation in & language classroom ?

To  koow  the
background of the poem.

To gppreciate snd enjoy the poem,

To give their opinions about the
poem.

(1) historical

2)
(3

{4} To become awere of the poet and

her works.
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